
Problem.
Follow DEAR1 to discover action rules reclassifying objects from the class d0 to the class d1 in table T1. Attributes a, b are stable.
	  a           b	       c	          d        	
	X1
	   2
	   2
	    1
	    0

	X2
	   1
	   1
	    1
	    1

	X3
	   2
	   1
	    2  
	    1

	X4
	   1
	   3
	    1
	    0

	X5
	   1
	   3
	    2
	    1

	X6
	   1
	   1
	    2
	    0


Table T1.

Solution.  Finding classification rules using LERS (LEM1):
d0*={1,4,6}   d1*={2,3,5}        c1*={1,2,4}       c2*={3,5,6}
a1*={2,4,5,6}      a2*={1,3}         b1*={2,3,6}    b2*={1}<d0*       b3*={4,5}

a1.b1*={2,6}          a1.b3*=b3*         a1.c1* ={2,4}         a1,c2* ={5,6}       
a2.b1*={3}<d1*          a2.b3*         a2.c1*={1} <d0*         a2.c2*={3}<d1*
b1.c1* ={2}<d1*         b1.c2* ={3,6}        b3.c1* ={4}<d0*         b3.c2*={5}<d1*
a1.b1,c1*={2} <d1*   a1.b1.c2*={6}<d0*   
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T(d1,a2,b?)
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a2 * (c1 -> c2) =>  (d0 -> d1)

T(d0,a?,b3)
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a2.b3.(c1 ->c2) => (d0->d1)
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Problem 1.
Assume that {A,B,C,D} are flexible attributes and D is decision attribute. Follow the algorithm

based on reducts to find action rules re-classifying objects from DI to D2 in the table below.
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Solution:

X1 X2

X3 B2 A2.C2

X4 ALCI_|BI

X5 ALB2 [C2

Reducts:
R(x1)= B2(AI+CI)(A1+B2) = B2.(A1+C1) = B2.Al + B2.Cl
R(X2)(A2+C2)B1.C2=B1.C2
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Rules:

(B.->B2)(A,->Al)=>(D,Dl >D2)  Dom={X3.X4X5}
(B,>B2)(C,>C1)=>(D,DI->D2)  Dom={X3X4X5}
(B,>BI)(C,>C2)=>(D,DI->D2)  Dom={X3X4X5}

CL(B,BI->B2)(A,->A)=>(D,DI >D2)  forCl, Dom={X3,X5}
C2.B,B2->B2)(A,A2->A)=>(D,D1->D2)  forC2, Dom={X4}

AL(B,BI ->B2)(C,Cl ->Cl)=>(D,DI ->D2)  forAl, Dom={X3}
A2(B,->B2)(C,>Cl)=>(D,DI >D2)  forA2, Dom={X4X5} NoChange

Ina similar way, we extend the third rule
(B.>BI)(C,->C2)=>(D,DI ->D2)  Dom={X3X4X5}




